
Dear customer,

Tecnigas would like to thank you for
your interest in our products. The
product you bought is a key part for
the good performance ofyour
motorcycle. ln order to get an
optimum performance, it is
recommended to read thoroughly
the assembly instructions below.

Assembly instructions

1. Remove the original exhaust.

2. Place the cylinder union nozzle
änd the sheet with spring location
up- on the cylinder output without
tightening screws completely.

3. lnstall the new E-NoxTecnigas
using the springs to fix it in the
cylinder opening.

4. Fix the union gasket and the
manifold together with the silencer
gasket and the silencer.

5. Fix the silencer at the frame, place
the spacer between the clamp and
the frame bracket.

6. Check there are no gas leak.

Maintenance

1. Clean the stainless steel muffler
outer with a multFpropose spray
and the fiber or painted muffler
outer with a soft and dry cloth. Do
not use aggressive chemical
cleaners.

2. The muffler bracket should be
periodically checked as well the
parts that could be damaged by use.
A further change in colour of the
muffler is due to its normal use and
it depends on the nature ofthe
materials used and the heat.

3. Periodically make sure all the
bolts are suffciently tight.

Estimado cliente,

Le damos las gracias porconfiar en un
productoTecnigas. El producto que
ha adquirido es una pieza clave en el
funcionamiento del motor de su

motocicleta y le darä muchas
satisfacciones a partir de ahora, pero
es aconsejable seguir las instruccio-
nes de montaje que relacionamos a

continuaci6n-

lnstrucciones de montaje

l. Desmontär el escape original.

2. Colocar en la boca del cilindro la
tobera y la pletina con el alojamiento
para los muelles hacia arriba-,
apretando moderadamente los
tornillos.

3. Montar el nuevo E-Nox Tecnigas
utilizando los muelles para su frjaci6n
en la salida del cilindro.

4. Colocar la junta de uniön y el
colector con la junta del silenciädor y
el silenciador.

5. Para fijar el silenciador al chasis:
lntercalar el casquillo entre la
abrazadera y el soporte del chasis.

6. Verificar que no existan fugäs de
gases.

Mantenimiento

1. Limpie el exterior de un silencioso
de acero inoxidable con un spray
lubricante multiusos y el exterior de
un silencioso de fibra o pintädo con
un paöo suave y seco. No utilice
limpiadores quimicos agresivos.

2. lnspeccione periödicamente los
soportes del silencioso y de todos los
elementos que puedan desgastarse
por el uso. Un cambio eventual del
color del silencioso se debe a una
utilizaciön normal y depende de la
naturaleza de los productos
empleados y del calor.

3. Compruebe periödicamente que
los tornillos estän apretados.

Cher client,

Merci pour faire confiance aux
produitsTecnigas. Le produit que
vous venez d'acheter est une partie
c16 de la bonne performance de votre
moto. Afin dbbtenir une performan-
ce optimale, il est recommand6 de
lire attentivement cette notice de
montage.

Notice de montage

1- D6monter le pot d'6chappement
dbrigine.

2. Placer la tuyöre union cylindre et le
larget dans l'entr6e du cylindre avec
l'emplacement des ressorts vers le
haut-, en serrant le5 vis avec
mod6ration.

3. Assembler le nouveau E-Nox
Tecnigas en utilisant les ressorts par
le fixer ä l'entr6e du cylindre.

4. Mettre le joint d'union et le
collecteur ensemble avec le joint et
le silencieux.

5. Fixer le silencieux au chässis,
intercaler I'entretoise parmi le collier
de fixation et la patte de fixätion du
chässis.

6. Vdrifier qu'ils n'existent pas de
fuites de gaz.

Entretien

1. Nettoyez I'ext6rieur d'un silencieux
en acier inoxydable avec un a6rosol
lubri6ant multi-usage et I'ext6rieur
d'un silencieux de fibre ou peint avec
un chiffon doux et sec. Ne pas utiliser
de nettoyants chimiques agressifs.

2. Contröler p6riodiquement les
fixations du silencieux et tous les
616ments qui puissent se d6tdriorer
par l'usage. Un changement 6ventuel
de la couleur du silencieux est dü ä
une utilisation normale et d6pend de
la nature des matäriaux utilisds et de
la temp6rature.

3. V6rifier p6riodiquement que toutes
les vis sont bien serr6es.

FIELD OF APPLICATION I rabla de apllcaciones I Tabhau d'application

Sherco 50 SM - RS

50SM-R
505E-R5

50SE-R

GUARANTEE TO BE FILLED OUT BYTECNIGAS REPRESENTATIVE
GARANTIA DEBESERCUMPLIyIENTADOpORUNREPRESENTANTETECNTGAS IGARANT|E AREMPLTRPARUNREPRTSENTANTTTCNTGAs

Date of purchase:
Fecha de compra I Date d'achat

061 252131

lssued by:
Emitido por I Emis par

Stamp&signature:
selloyfirma I Cachet et signature

061252136



ASSEMBLY INSTRUCTIONS
INSTRUCCIONES DE MONTAJE I NOTICE DE MONTAGE

PARTS / COMPONENTES / COMPOSANTS

l. Exhaust / Escape / Echappement
2. Mainfold / Colector / Collecteur
3. Silencer / Silenciador / Silencieux
4. Cylinder nozzle / Tobera cilindro / Tuyöre cylindre (O28)

5. Cylinder nozzle / Tobera cilindro / Tuyöre cylindre (@25)

6. O-ring / Junta torica / Joint torique
7. Spring /Muelle/Resort
8. M8 screw/Tornillo M8/Vis M8
9. M8 washer / Arandela M8 / Rondelle M8

1 0. Union gasket / Junta uni6n / Joint d'union
1 1. Protector tubo aceite / Oil tube protector

/ Protecteur Machon Huile

EI/C'

-tttlt,'
GUARANTEE

1. lt is absolutelyforbidden to modify

or alter äny part ofthe exhaust.

Tecnigas Parts 5.1. disclaims all

responsibilities concerning or related to

the defucts or matrunctioning ofthe

altered or modified product.

2. Guarantee is limited to the normal

use ofthe product änd will be void if in

case of improper installation, incoffect

use ofthe product, competition and/or

accident

3. By no mean5 the customer should

assembh ortry to ässemble a Tecnigas

product into vehicles for which the

compatibility has not been clearly

stated.

4. Guarantee is restrlcted to the

replacement ofthe part detected as

faulty by the Technical Services from

Tecnigas Parts 5.1.

5, Guarantee excludes items subject to

normal wear like gaskets or damping

wool.

6. Guarantee excludes appearance (a

further change in colour is normal due

to heat and materials used) and

performance of the products.

7. Technical specifications änd features

ofTecnigas products are subject to

change without notice.

GARANTIA

l.5e prohibe toda modificaciön y

alteraciön del silencioso. Tecnigas Pärts

S.L. rechaza toda responsabilidad

relacionada con la utilizaciön d€

productos modifi ciados o alterados.

2. La garänt{a se limita a la utilizaclön

normal del producto y pierde su validez

en caso de montaje incorrecto, un uso

incorrecto, accldente y/o competiciön.

3. De nlnguna manera debe montarse o

intentar montarse un producto Tecnigas

en vehfculos para los cuales no se indica

claramente su compatibilidad.

4. La garantla estä limitada al remplazo

de la pieza considerada defectuosa por

el Seruicio T6cnico de Tecnigas Parts

5.L

5. La garantia excluye elementos

sujetos a un desgaste normal por el uso

(como fibras ojuntas).

6. La garantia excluye la aparlencia {un

cambio del color del silencioso es

normal debido al calorylos materiales

empleados) y el rendimiento de los

productos.

7. Las especificaciones t€cnicas y

caracterfsticas de los productos

Tecnigas est6n sujetas a cambio sin

previo aviso.

GARANTIE

1. Toute modlfication ou ah6ratlon du

silencieux est interdite. Tecnigas Parts

5.1. refuse toute responsabilit€

ddrivant des d6fauts et mauvais

fonctionnement du produit ahdr6 ou

modifi€.

2. La garäntie est limit6e ä une

utilisation normale du produit et perd

sa välidlt€e en cas de montage

ddfectueux, utilisation incorrecte,

compdtition et/ou accident.

3. En aucun cas, le client doit inställer

ou essayer d'installer un produit

Tecnigas sur des vehicules pour

esquels la compatibilit6 n'a pas 6te

clairement indiqu€e.

4. La garäntie est llmitde au

remplacement de la partie considäree

ddfectueuse par le Service Technique

deTecnigas Parts S.L

5. La garantie exclut hs 6l6ments

soumis ä une usure normale (par

exemple fibres ou jointes).

6. La garantie exclut l'apparence (un

changement de couleur est normale en

raison de la tempärature et des

matdriaux utilis6s) et la performance

des produits.

7. Les specifications tdchniques et

caracteristiques du produits Tecnigas

sont sujets ä modifications sans

pr€avis.

061 252131 / 061 252136

,"G-n-gicrg
wwwJEcNlGAS.COM I |NFO@TECN|GAS.COM

TECNTGAS PARTS S,L. POL, PLA DE LA FONI, PARC 1. E-1 7832, CRESP|A (G|RONA). SpAtN ]cn-giGr-


